

## Linear Approximation/Newton's Method Worksheet

The **tangent line approximation** is our starting point in Math 126. The tangent line to the graph of  $y = f(x)$  at the point  $(a, f(a))$  is the graph of the function

$$L(x) = f(a) + f'(a)(x - a).$$

For  $x$  near  $a$ ,  $L(x)$  is approximately equal to  $f(x)$ . How good this approximation is, and how close  $x$  needs to be to  $a$  in order for this approximation to be useful, will be our first concern in the course. The first few exercises below give you a chance to experiment with this topic.

For each of the following functions, find  $L(x)$  at the point  $x = a$  given. Then, determine, roughly, how close  $x$  has to be to  $a$  to get  $L(x)$  to be within 0.01 of  $f(x)$ . Do this with a calculator: try a bunch of different values of  $x$  near  $a$  and see how much  $f(x)$  and  $L(x)$  differ.

1.  $f(x) = x^2, a = 2$
2.  $f(x) = \ln(\ln x), a = e^2$
3.  $f(x) = \tan(x), a = 1.5$

A very famous and powerful application of the tangent line approximation is **Newton's Method** for finding approximations of roots of equations. Say we want to find a solution to an equation

$$f(x) = 0.$$

So, we want a value,  $r$ , such that  $f(r) = 0$ . If the function  $f$  is not of a rather particular type, such as linear or quadratic, we generally would have a hard time finding  $r$ . In such cases, we often resort to finding an approximation of  $r$  using Newton's Method, which is as follows:

1. Start with an estimate (i.e., a guess) of  $r$ . Let's call that guess  $r_1$ .
2. Create the **recursive formula**:
$$r_{n+1} = r_n - \frac{f(r_n)}{f'(r_n)}$$
3. Use the formula repeatedly, to generate  $r_2, r_3, r_4, \dots$ , until the values you get don't change much, or until you get tired of it.

For instance, suppose we want a root of the equation  $x^2 - 2 = 0$ . We could solve this algebraically, but for the sake of example, let's see what Newton's Method does with it.

Say we start with the guess  $r_1 = 1.5$ . Our recursive formula is

$$r_{n+1} = r_n - \frac{r_n^2 - 2}{2r_n}$$

